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N.B. (1) Question No.l is compulsory.

(2) Attempt any three questions out of the remaining five quesu

(3) Figures to right indicate full marks.

1 a) Evaluate [(z +22)dz alongthe circle x* +y* =1
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" formsan orthogonal set over the interval [0, L]. Construct
corresponding orthonormal set.
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Find Laplace Transform of the periodic function

sin2t, 0 <t {ffj
f)= » f(O) =@ +7)

4
0, —<t <
2 )

Find half range sine series for xsinx in (0,7)
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Expand f(z)= =1 aroundz=1
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Using residue theorem evaluate 4—'%%5\#1‘1’3:‘3 Cislz|=4
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Find Fourier expansion  of £ f=%+x' in (-m7) and (6)

f(x+27)= f(x) ( ﬁ\‘»‘::f
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6 a) Show that the function ¢ ;%\\tmsfnnn the straight lines x = ¢ in the (6)
z-plane into ClIGh‘JS‘- &»ﬂ-piane
b) Solve using Lapl y 4 [ransform R%?—-+% =V , Q=0whent=0 (6)
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¢) Solve the Laf 2“3“011 a::;* e a ¥ =0 for the following data by (8)
v, b
successwéﬁ;éi‘ﬁﬂnns (Cslculate ﬁrst two iterations)
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